X FiLe i THE BLanks

L The larger of cos (In@)and In fcosB)ile ™ << 2 is .

2.

3. The set of all » in the interval [0, 7 for whivh 2sin” v - 3sinx +120,is...

4.

-

. . . . 3 .
The solution set ol the syswem of equations x + ym?.{'ﬂs_r +CO% y:i, where x and y are real, is. ..

General value of 8 satisfying the equation tan® 8 +s2¢ 20 =1is

Bl True/ Fause

1.

There exists a value o' between 0 and 21 thar satisfies the equatfon sin @ —2sin® 0 -1 =)

OBJECTIVE QUESTION
= Oniy one aption is correct

1

The equation
. Y . .
2eos* [:I'xJ sin x =37 +37F, ¢ 5 Fas - UIT 1980)
&

e

{a) o real solution
{4 one real solulizn
{c) more Lhan one real solution

The general saltion of the igonometric cuation
SINY + cosx =1is piven by : CIT 1981; 2M)
(Mr=2amne=04+1.4 2.

(M x=2nm+ =i+l £2. .

AT

Clr=mn+{-D" - -Z:p=0c} +2
c)x _ }4 ”

{d ) none of these
The number of all possibk: iriplers
{cy, e, &5 ) such that
dp +ag Cosf2e) 4wy sm” (x) =0 for allec s :
tIT 1987 ; 2))
(b} one
(dpinfinite

{a) zero
fc} three
{e) note of these .
The smallest positive root ol the equation, tan x - x =§

lies in : {IIT 1587; 2M}
irﬁ' 'z'n:
{a}[a —J ] = x|
. 2 X |2 )\
() n,fﬂl {d}(?f,iﬂ
N 20 L2 ;

{¢) nodeorl these
The gencralSplnion of
Sinx —3sin 2y + sin 3= cosx — 3 cos2x —cos 31 s -
(NT 1989; 2M)

{HT I19E3; IM)

{HT 1284, 2m)
(T 1987; 2M)

...... {IIT 1896, 1M}

{IT 1984; 1M)

s T om
aj Hm4 - by- =
(a) nm 5 (b s "3
(€ (-1)" ? +-; {d) 2o+ cos™'
The egquatian

€8s m— 1%~ + (cos Lhx +5in =10

i the Yarighle v, has real roats, Than pean ke any value
ithe interval ; (NT 1980, M)

b (O 2
" T T
:.C}l__r }
21

By -mth
(d) {0,

In a iangle AN, anele 4 is greater than angle A2, If the
measurcs of angles 4 and 8 saisfy the egoation

Jviny —duin’ x- =00kl

then the measure of angle ' is ; fNT 19903
()= OK

3 z

= iw
() R dy—
{c) p {d) .
The number of solutions of the equation

s {el® =57 4 57 3g { T 19913

(a3 0 {hy |
(ch2 {d} intinitely many

Number of stutions of the equation
tan ¥ 4-secx =200 ¢

[ying in the interval |0, 2] s -

(a0 {h1 1

fey 2 (d) 3

(T 1923; 1M}



[ =t

10, The general valug of @ satisfying  the equation

2sin @ - 3sinf -2 =0, s (T 1995)
T w T
(a) am+(-1)" = (byam+i{-1)" —
fh 2
. 5% P
un—i- 137 2 dyrm + (-1} =
{c) i- 1 p id) { p
11. The graph of the function
cosx eos(x «2) — cox” (x +1)is: T 1957
{4) a straight ling passing ibrough (G, --sin* 1) with slope
2
(b} a straight line passing through (. b
{c)] a parabola with vertex (L - gin 1)
. ¢ oo
(d} astraight line passing throngh the 1:«:ri11tlIl f, - ginc 1!
i /

and perallel to the x-axis.
12. The number of valugs of x in the interval |2, 5] salisfying

the cquation 3 sin? x — Tsin x +2=018 1 (1T 1998; 2M)
[ay O {b} 5 {c)b {dy ¥0

T
13. Lot mbe an odd imteper. If sin st — 2 £, sin” 8. lor
v = ild

every value of 6, then {HT 1558; 2M)
{a) b, —l b =3 (biby =0ty =n
chb,=—Lb —n {di k=0, b =1 -dn+3

14. The number of integral vatues of & for which Lie equation
Teosx + 5 st = 2k —1 has a solution, is {lT 2002}

B OgJecTivE QUESTIONS
w More thar one options are correct

1. The values of § Iying batween B =10 and @~ 42 =l
sattsfving the equation

|1 esin®8  cos?0 dsindd
i snt0  l+cost@  dsindd  [=0ares
sint cost 8 1+ dsin i {IIT 1988)
{a) Tm/24 by Imd 24
() 11w/ 24 felym /24

2. Forl<dex/Lif

s

= - = =i
x= ¥ cost @M=z @n" ¢.z= I cosT @
- Nl .y

=Ll
.2 : N
sin“" &, themd {IT 1993; 2K
I3 subiEcTIVE QUESTIONS

1. For allo im0, n/ 2] show that .
cos{ S0} = sin(eos0). {UT 1981; 4M)
2. Fipd the cordinates of the points of interesection of the

. . I h
gurves v=cosx, y=sindglf-- Sxa£ -

(1T 1982; 3M
—d =0

CIET 1582; 2M}

GIT 1983; 2Mi

sioT —mu X

3, Show that the cquation &= — ¢
hits mo real solulian.
4. Find all the solutions of .
dogs” rsinx -2 sin® x=1sinx
5. Find the values of x{—1, + ) which satisfy the equation
2]+||.bi}d.t|+|w5-‘.l|+ ...... =d {IIT 1984; 2\

15.

16.

17

urd {by &
foa 14 (dy 12

Lot o= zbe a fized anzle. If

P = (cos®, sind)and §= (cosfe —8), sin (@ -B) than £

iz obtained from P by {liT 2002

{a) clockwise rotation around origin through wi angle o

(b anticlockwise potation arownd origin theough 2n
anplec

{¢) reflection in the line through origin with siope tan o

(d) relfection in the line through originfvilslope 0 %

The set of values ol # satisfying the - incquatiun
ein- B - Scind + 2 0 whergde B2 isT  {|IT 2008)
v g O r r ]
{a}[U,EJL,[“n.Enl thy 0 FF-IUFE,ETIE
el e T "6 "6

2] T2z
0, —[wi—=.2
[c][ 3-|'~_J|_3 '.ILi|

-

¢d) none of these

The numbed” of solutiens of the pair of equations
2ein 8 —cas2W0ffnd  Zcos™ 6 -3sinB -0 i the

interAl [0, 2 [4E% {IT 2067)
(4} zera {b) onc
¢ Do {d) four

fbyxpr=xp+ 7
(s yzax

(a) zp= =xz = ¥
felmep=-x— )1 2

soc” ) =_4x_r_ﬂ is erue i and only il
fx+ ¥

(apx = p+i

Y-y

LT 1996; 1M

thix=wr+0
(d e =0 w20

Consider the syetom of linear equations in x, J. .
(sin3d)x—y+z=0
{cos2d)x+4y+3z=0
2x=Tpr7z-0
Find the values ofe for which this system has non-tevial
solutions. (IT 198&)

If exp fsin” £+ sin? y—sin" x——- -—0)LIn2i

salisfies the eyuation x~ - Oy 1 §$=0, find the value of

Citn X . m
 — — e xe -

Cosx + 8ih X

{IT 1991 ; 4M}



8. Show that the value of tan v/ tmt 3x. wherevar defined

never lies between 1/ 3 and 3. (T 1992; 4M) (1T 1995; 5M}
9. [otermnine the smallest positive value of x { in degrees . . [ A

- . P ( pees) 11, Tind all values of 3 inthe interval — =, T matisfing the

tar which 23 k

tan(x +100°} = tantix + 307} tan (x) tndx  50%)
T 1993; 5M\

10. Find the smallest positive number p for which the
cquation

ANSWERS |

equation
{1 tan @K1 —1an O)sec” 8 +2°° " 0

gos [ psin x) =sin { peos r) has a salution x =70, 2x)

(LT 19%6; 2ZM)

Fill in the Blanks

o : :
Leosilog 8= log (cos@)  1.no solution 3.1E|:D.,§:||._J ’V“—;T-.E'.rrj U{%} 4.‘E=mﬂ!..ﬂ‘n':|:l_l:
L a

Trus / False

1. Trug
T8 cCbiective Questions (Only one aption)
1.{ah PRy A d} 4.0c) 5 (b} & L el
8. {a) 9.{c} 10. 14} 11. () 12. () 13, {b) (4. (1
5. ¢y 16. (2} 17 4c}
[E] Objective Questions {More than one optien)
1.{s, €} b, 3o by
A Subjective Questions
i = 3 1t [ b N
Zi[ﬂ,cusz [—,WSEJ —:-T'-I.CUEE—-T. . fxix=anpus o x=nmA -1l T ot ~|x:.x=n5|:+i—1ff'r m|
£ 844 # 5 | 10 | Lo
. 4 ¢ g _
5.4i£:i£ 6,G=:mm'm+{—l‘)”iﬂ] T.‘:} ! L
33 6 2
T 1n.o=+=
Al 3
FILL iN. THE BLANKS
1. As, cost =]l = logleas byl ] Tsintr- dsnx+120
and cas(lug{é}}:-[ﬁ = sin® z ~2sinx —sinx - 10
- cos{log By =]oeicos 0}
: 8 = (2sinx —D{sins - >0
2 TR = Tsiny —120
and msx+cn&y=§ = sinxi_:;— or  sing=l
-
2 SR : .
= GO ¢ +cos[——x .=3 — re[{!.f-!u E.HE.‘]I“k,Jl_TL_E‘J'E]'u{—l>
! ©2 iz 3] 2,
¥ "y
T 03 Mot [ |
= cosx+ Y eosrt Losinx |=§ or xEI;U,E'U{QE,En}u‘!'ﬂl-
L2 )2 ] e )
= ]—Cﬂsx-i-ﬂsinx:§ 4. tan ™ Q +sec 28 =1 {given)
2 2
fm 3 c . = tan- @ + =]
= &M -6~+x =5 which is never possible cas 26

‘Fhus, ne soluion



I+tanqlEl_

) tn~ 0+ 1

1-tzn°8
= tan? 0l - @an 0)4 (1 - ran-0j=1—-tan" 0
— Itan-0 - tan 0 =0

= tan @ (G —tan - Ay =1

!! TRUE/ FALSE

1. Here,  sin*0-2sin°04+1-2
or (sin B —13" =2
or sin? =442 11
OBJECTIVE (ONLY ONE OPTION;
41'/‘!.'. .om
1. As L.HS=2¢cos" ]sm Tk ?
V2
1
and HilS=x"+—z2
e
< The equation has no sofutian,
2 WM X — ok = |
Dividing and multiplying by 42,
l . i 1
—==5x-s —/—CEL ———
42 V2 V2
i I'I v T
= bl!l'.l|'l.+—,="1l'|- -
) A L4
= L R IJ"T—T
4 4
) m W .
ar x=nm+(- 3" = Z_aeinweger
4 4
3  Wehave
dy + iy C0S2x + s sin? x = (f focell x
f1—cos2s’
O TR N S T fx =00fer all =
da ! - N
— (“n +i: +[u2 = Wooddk =10, for all
2 2
i N o
1 .
= ay +—ap=hygand  w, -%=CI
== & :—_'r‘:,aj :E__a-\ =k, where b 2R
Ry 2
, [ & &k :
Hence theSalotions, are| — - . ", & . where & is any real
L2
number.
Thus the number of triplels is inlinie.
4. Let Fizxy=tanx—x
We know for 0= xf.’g
= anx=x

= tan b =0 ar tank =443

Barw, Ten B =0, 0 = serwhere s an inlegern.
[/ -
and tn B =1ty3 =1an (7w 3)

n
H=rnrt -
3

-» @ =, oaw o) 3where moand m are integers.

where, 5112 B =1 -2, neglecting 2 - |

T ) {
sinf =141 - 42 are possible solations.

Henee, {'I'rue).

Fixy=tanx —x has n@ ool i0H0FE/ 21 for /252 &,
Tan x is necalive.
f ) —tanx B i
i A
1 LSO R
so [/ {xi=0his pefrogl in® =, &

. ¢

~ 3r . .
For —< 35 2m ldh x 15 negative
1

Fix)=fang—x<0
i) S

So. MiE=0 has no root inj —, 2n
27

Wathave f (m)=0— =< {

IK .\l
anicl i -3?5J=tan§E LI
- 2 2

y 2

. Im
S5 Oy =Trhas atleast one root Between wand e

sindx osiny - 3sindy —ocos3y—cosy —3cosly
= 2sindecosxe—3sindy =2oozdyveosy -Joosdr
o sin2x (Zoosxe — 3z esPy (2eosx - 3)
fo 2oogx —3=0E

= sindr =cos3x
h1s
= [anzx=1 = Zx=pnt—
4
L m
= X=—~—
2 8

For the guadratie cquation to have real roots we must
have
s’ p—dsin pieos p-3z0
= (cos p-2sinp)’ —4sin” pt+dsinpz 0
— (cosp—2snp) <480 pil -sn ph=0
sAasinp(l sing)=0ford= pan
il (cas m—2xn p}j =0
Thuz, {(co: p—2s§m P - dwinp(l-sing) =0 for

U< pam
Hence, the equation has read roots forfi< p<a



10,

11.

We have3sin y — dsin’ r =& 0= £ < L which can also be
written axsin3x = k.

1l is given that 4 and A are solutions of this BeuAtion,
I herefore

dnid =kandsindf =&, where s £

= N<34<mand < 38w
Now, sindAd =4 andsin 38 =&
= sin3A4-sin3B =0
— Zcosi(.4+ﬂ}5inE{A—B}:ﬂ
pl 2
¥
= c4333| A+F ]zﬂ, Hit13 {4 -8)=0
L2 2

Bul it is given that A>8 and <3d<m D38

Thereitwe sin % fa- Oy=ll

Henee, um}" A+ B =0 —» 3 (4 +3}_.E
2 p 7

!
= A-I-H:-"rE
3
= (' =r EKITB}zz—T:

3
Here, [.H.S =sin{e* y< lforallx R
and RHUE=5 -§"=z2

sin (¢ 3=5" +9 7 has no selution

T
ns-secx=2emr x 2y +) -

ra
-~ dink-l=2cos" x
= sinx+1=2(1-sin’ x
=5 2sint x +8ing —1=0
= (2sinx Dsinx+ -0
- sinx:-l-,slrlx_——l
2
: 3 3
xzi,}ﬂ oT x—'—KhLﬂ'IE(EH—I}E
& 6O 2 2
MO
TS
SN

Hence, rumber Of sBjutions are two.
PsintH —3sin @ -2-0
= @sin B +1}sinG-23=0
S gnfB= 1:2

IneglectingsinB =2 ag|sin 8l = 1}
Bopm+ (-0 (—mib)
-3 8- (Talé)
Let y=oosx cos (v +2) - cos” (x +1)

=cosfr+i—brcosfx +1 =0} - et i+ 1}

— st (x+ 13- sin” P—cos’ (x =1

12.

13,

14,

14

p=—uin” | This is a straight line which is parailel Lo
x-axis,

It passes through (w2, sin~ 1),

Therelore, (7 15 the unswer,

3sin? x - Tsinx+2 =0 (uiven )
= isint x—&sinx—siny -2-0

—% Isima(siny -2 - (sinx -23=0

=% (3 ginx - L) isinx - Lp=0

= sinx-1/3 or sinx=2 {snr-2isrejacled )
= r=nr+i=1)" s 7 J,na:’

Fre DemsdrsMom]

‘There are six values of x £]0,53] Which satisfy the
Lyuation
2

Fsin® x — 7 singe! ot

Therelore. (¢} ix the answirn

singh= % b sn' B { Eiven)

0=
=

™o, put @ =0 wegdet Ie= 1,

iy
gin pfle= & A sin® Distrue
r=1
sip ) ) -
= : = L b (sin) T
smdl r=l

Taking Imitas 9 -»0

.oomanmg .
= iim —2 T = lim 2 A 0 !
a0 gnd H-zhir=1

zin 2l
ﬁg-b—ﬂ—
. H -
— lim — _ — =& —0+0-u..
B . sind
=
1]
Other valyes becomes zero for aighier pawers of sin ¥
.1
- G— = bl
1

= b —n Therefere . ih) is the answer.
We Know;

! 2

- 'I'EFJ: sasinythows m,l,'n'z N
T4 £ Tousx L Ssin g NET
he.—T4 <2+ 1T
Since & is inleger.
.l i F
—10=2k=<5
Sk 4
— Number of possible iateger values of & =8.
In the argand plane. P is represental iy o dnd F is

seprescnted by '™



1.

Now, rotation abont a line with angbe ¢ 15 given by
¢ =" P Therefore ) is obtained from P by

refiection in the line making an ahghlew 2.

As, 2sin” B—5sinf + 250

= (2snd -1} sin®—2}=0
ywhere, (sin (- 23 0 for allf e A
: (2sin 6 1)< 0
"
A . V=3
7k =72
ol BT T X
4

I?] Os.EcTive (MORE THAN ONE OPTION)

1.

Applying &, — 8, — K and B, — B, — 8, we pet
li+sin“ 0 cos®0 4sin48

= I 1 0 I—D
‘ -1 0 1

applying & =07 14
2 c0s B 4sindd

= 3] ; ] ={
I—l ] 1
= 2+4sn40 =0
= sinﬁtﬂ:_—]
2
- 4H—-rm+{—l]"[—F]
&
- R m(i‘
L D _24/]

LT
Clearky, 8 = ’ 1-_;: are twpsaluesof © lying between (3

s
and -,
in |

<

ForO<¢ </ 1/ 8 %z have
hal = il
x= E st +oos d+cost g +eos®d 4+,
LN )]

it iflestly 1'G.P. with common ratio ofcos” ¢ which is

=1

Henoe,x = — - | —= ! . ‘1_,_]__.:,.,.:|-|
1-cos“ 4 sin? gy L r :

Similarly,

. !
= sin B = sliown as
i

at s
Bsl 02 Iu[:.zn
al LA
Henee (a) 15 the correct answor.

-t .
25 0 —cos 268 =0 = sin‘B =

| e

Alsp Zeos?@ =3sint = sin 0=

[

= Two solutions in [0, 3],

e/t
L—sin® ¢ cos” ¢
[

4+ —

s cos®g

aend r-

MNow, r+1=

Los® g +sin’ g I
I S S
cos” g sin® g cosTodsinT b

. 1 .z : 1
agala —=] sin“deoosdg=1- —
= xy
= X
= =Kz -z
= Xy+z=xpz

Therefore, (b 15 the answer from (1 (puttiog the value of
x¥)

= XZ—x—yp+=z

Therefore, (e} s the answer.

We know that sec” G 2 |

= - 4*—}—13_’ |
fe 1 9~

= Axy = {x ~ },}2

= {x+ v —dypri

= - " £

= y— p={}

= =y

Therefore . x + p=2r  ( add x both sides }
but x + 3= sinee it lies in the denominator,
= 2r 0

=rx #(FHence x = v v 2075 the answer.
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276 e —
=, 3sin@—dsin’0+2(1-2sn 8)-2=0 = xFi = tanx =0
- sinD f4sin?0 - 4sin@  3}=0 Let ran % =
L -3¢
= sm@-0 = B=n LA - y:? TE_
ur 45in @+ deind -3 -0 ; -
o (2sing —13 (2500 -3 =0 s dp—tTp=l-34 _
. . = Fwe-l=f0 ¥-3C
—  «in0= orsin8— 2 (not possible) 2o v 8 "
z 2 - Jv- 1=ty -3 T
" TE\ 1 +
B=nm+ (1) _J A2 i -1 - T
L 0 = ;_3 f 15 1
- from g 1) and {2}, we get |
S = l]'—_ 201 e = Dol B
O =amorwm+{-1)" GJ =3
) = vof- R TRk

7. Lixp H{sin~ x4 sinfxosin®x .. ) og, 2

-

M"_': e F
— e I-gn”x
Iogfﬁﬂ'i{
— e womT
A . A
= 250 gatisfy x~ —%x +8=0
== r=18
thTI-_.'C :1 ﬂl].d 213[! T -
u 2
= tan-x -0 and fanTx=3
z
N
— ¥x=HT and tap-x = L& —
L3
b4
and x=nml
3
- . E
Teeplecting r = amas < x< 5
I
I T
= I——FL(},—]
=
3 -
1
- "
TR E z l Y3 -1
- - ‘_:_ _'_:_:5.(__ R
cosx 4+8nr 0 1 W3 1+43 43 -1
+ -
2 2
MR |
S
CO5 X W3 -1
SOSX 4 SNy 2
_lanx lan x

a. _J}'— — = -':5_
lan3x Jtanx-tan” x

1-3tan® »

_tanzx {i-3 tan” x)

Sw.nx—mngx

1-3tan” x
=120 ot 3x 2D = 3x 0]
F—tanT x

Thetetore, v i not defined in belwesn 43,3
tan (x + 19627 = ranix + 30° ) w@n x @ngx - 507)
Langx 0057

i ¥

Dianlx + 30" tan{x — 307

sir + 1007y vosx  sndr F507) sAN0X - M)
gl v+ 1007 Tsinx cosix 1 50 eosix —350°]

s [ 2 Tﬂﬂl"‘} +sin 100% cosl 067 - cosdx
sn(le + 1009y sin 100 cosl{07 1 cos2y

= {simi2x o bO0P Y sin 1007 [eos 100% oo 2y
— Fows 100F - s Iv]= fsod 2x + THT ) —sin [00F ]
— windZy o W - cos 1007 + sinlx - [{H17 ) cos 2x
— sin OO o 10" — sin 107 oy 2y
= corg 1007 sind 2o — WGP Y cos 1009 sin 100°
cos Jsin (2v+ 1007 3+ cos 2 sin TP
— Z5int2x + 007 poos 2r 1 2 sin [00% ens 1007 =4
= sin{dy + 1007+ sim 1U0° + sin 2007 =0
= sinddx — (007} + 2sin 150 eos 50° =0

Il

I
sind e - 1007 3 lql sifQde — 58° ) =10

sin{dy + 100% - sin 4 =0
sin{4x 1 100 ) = — xind(F®
sin (dx + 1007y = sin( - 40°)
x FIHP =um+ (=17 (= 47)
dr —mi130°)~ (- N7 (=407 - 100°

Loyl

x-_-;[nusnnm_m (=409 100°]

T'ne smaklest positive valug of x is obtained when r=1
L

Therclore., ¥ = 4 [1807 1 40°— 1007
ar = 12071300
4



1.

oo [ps‘-iﬂ.a:}:.ﬂﬁn{pccsx} {givin) Yre ﬁjr_] If el - N2p s [t [ A
I - {3 i
=5 cos { psin xi = cos| ?—pc{h'%x] = [+ lymis ey
b Fur p 1o be least, p should be least
= psin::=znmt|(§—pmsx1nef. - _”ZG
L2 A — -q'lzpfi'ﬁ."lz
[oeos @ =uos o= 1 =2am e ] ' 7
.\ ] e J pz - =
= pinx - poosx - INT+ R 2 i
ar pEin X — peosy =2t — B2 ned
T P “ . Therafore least value of p—= —T:, :
= pisin = cosx}=2nmd w02 292
il LY = =2 1.—11-":'—. T '
oT pisinx -gosx)—2nR : rel 11, {1—tun0}14 ran@) e 0428 20 (riven )
. i |
= w.’l”( 1—_5m_=: v ,__-Ct'.-s.‘l.'J=2n‘.lT tS 2 —, (1- tan- 2 07-(1 4 tap” EJ‘:+2"’” N
L2 42
L = 1-tan aff 2 Mg
or m-"_2| —-sm:. ———COsY | 2ymn--wd Lnel 2
! pul tan W= ©
L2 R
oo, Cx m = 120 92t =0
= il [ms—ﬁmr+5111—msx}=2nr.;— .
4 4 FA = x - 1=2F
' ™
. T
or _m-"i!m-—smr—s;m—msx |-—2mr—1:f2.naf _ :
L4 4 ) Imp. ndte: 2 and L —jare uncompatible funetions,
{d+1ym thereliute, welhave to considet ranse of both functiome.

— pw'rﬁ. jsin(x + T/ d3j=— -

Yh
or pw“ﬁ{sin{x—n.-*ﬂ,}]—.{4n-1)§,ne;
™o, _lzsn(xtRi4)= 1
s - plzEpEnzraiNE o2
o ¥

dn+lhm N, @ ‘
= - ‘m'g = L } oy Wrnel
e T
dn-Ni=
or f"'z Fatl {4n—1): L= p-.l'i Hel -
2 CUTHES vax- land =2
Second inequality is abwaysa stibsef of first. therefore. we infcrsect at one pomt { negative value will not considet )
have o consider only firgt x=3 y=8
It is sufficicnt to cansideh # =@, hevcause for n=0, the Therefore, tan” G =3 =2 tanf—— fi =0=1m3

solulion will be same for (- .





